G YT BT HAT : 20

Total No. of Questions: 20

gag : 03 gue

Time : 03 Hours

314
fawg : o9 fagm=

Subject: BIOLOGY

% Y& B AT : 07
Total No.

of Pages: 07

quiies : 075

Maximum Marks: 075

fAsT— (i)
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Note:- (i)
(i)
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(v)

g7 gx g GUsS] ¥ 7o 9 [T &/

GUS 3 B FH GIT 8T BV fFard 8/
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HTTEIHATEY e Uq THIHST T T8/
% g9 8 AT 3E JoT & THG didd &/

Question paper is divided into two parts ‘A’ and ‘B’.
All questions of part ‘A’ are compulsory to attempt.
Attempt all questions of only one option of part ‘B’.
Draw neat and labelled diagram wherever required.

Marks allotted on each question are mentioned in front of the question.

Yvs — 3 / PART-A

91 el fdeeu giie—

Choose the correct option:-

(@) Yure H BIRGRT B FEr gl ¥ —

(i)

(i)
(i)
(iv)

Th
S1Is)

al

Number of cells in a mature embryosac is:-
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One
Eight
Four

Two
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(@)

sAME T g 5

() D.N.A S

(i) R.N.A S

(i) D.N.A.3R R.N.A. 9
(v) SWRIFd H I B el |

Chromosomes are made up of
(i) FormD.N.A.

(i)  FormR.N.A

(i)  Form D. N.A and R. N. A.
(iv)  None of these.

([) 9RT H ARSI Tl Bw o

()
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(i) SR

(i) DA

iy fo8R

(iv)  NTSTRITH

Nuclear energy center of India is in-
(i)  Sringar

(i) Kerala

(iii)  Bihar

(iv) Rajasthan

ARSI B HH A BIF drell T B—

(i) e

(i) Reoca

(i) TATgex (ef)

(iv) hdl

Disease caused due to deficiency of lodine is-
(i)  Night blindness

i)  Rickets

i) Goitre

iv)  Scurvy
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SHYAX ui] Pl 3QTeNT —

(iv) Tefl

Example of Amphibians is -
(i)  Earthworm

(i)  Lizard

(i)  Frog

(iv) Birds

g2 Raa W=l 31 gfd SR — (1x5=5)
Fill in the blanks:-
OS5 G G L5 |5 =
Potato is @ MOdified .........oooei
(i) Ol B AT IR §RT O B AT B DU H BIT BT oo PEd ¢ |
The Loss of water in the form of water vapour from the arial part of the plant is called
D TS B 2 AP 2 |
] oo Yo I <=
(iv)  SEFTT Y STETT oo ATHd T BT 7
The lack of INSUIIN CAUSES ......oviiiii e disease.
Y T BT SMIATRIDT BT TS HaT AT 2 |
................................................................... is known as the father of genetics.
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U3 Udh e H IR SIOR—

Give answer in one word-

(i)

(ii)

(i)

AR &1 BT FIT 87
What is the function of Brain?
foT &7 FgRoT fh ORI & gRT 8T &7

Which chromosome determines the sex?

Hex BT IERYfad AT T 2°

What is the Botanical name of pea?

AT Ui fhd de # R oI 8°

In which phylum jointed appendages is present?

Had] § fbd avg &1 qyor fAfe grfY S 87

Which type of nutrition method is present in fungi?

94 I /3 ey —

Following the True / Flase:-

(i)

(iv)

[314]-111

Sy SreRefed o # |

Bacteria is a prokaryotic animal.

HIHl | IS Bidr 2

Nicotine is present in the coffee.

VAT BT SUART Bl bl b § fhar Frdm 2 |

Ethylene is used for ripening the fruits. .

quIieraT foiT Hge= YT 2 |

Colour blindness is a sex-linked disease.

qdh B ITAHS U4 BRITHD gPhlg THA & |

Nephron is the structural and functional unit of kidney.
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4.6

7

.8

9.9

3
(i) 3T
(i) BT
(iiy  drorvS
(iv) STREd
(v) SR
A
()  Amoeba.

(i) Haemoglobin
(iii)  Ovule
(iv) Cuscuta

(v) Pancrease

R.B.C.

Cl|
™ ORI

B
Pseudopodia
Pepsine
R.B.C

Seed

Complete stem parasite.

STe 9 9 H dIs o fax IR |

Write any two differences between stem and root.

UNTITOT RIT 27

What is pollination?

fig &ma @ 2?

What is guttation?

TSH T 57 96T gl A oIl |

What is AIDS? Write the complete name.
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911

12

.13

.14

.15

U.16

.17

.18

ToRE & & ol | (@ d9)
Write the functions of chromosome. (Any three)

UTEY DIRIDBT UG SIwg DIfRIhT H faR foried |

Write the differences between plant cell and animal cell.

qUIR=T T Id<e AMHifhd F g8 |

Draw a well labelled diagram of stomata.

gefl ot & <9 g deor 9arsy |

Write the three main characteristics of Aves.

Uh IRl RN T W8 Adifhd = 18y |

Draw a well labelled diagram of simple leaf.

AR Soll & oY faRad | (P18 aR)

Write the advantages of solar energy. (Any four)

STl YUl RIT 57 SADI Adhel & UG Id18Y |

What is water pollution? How to control it?

HaT JURGH T 57 Jal R & HRUT faRe |

What is meant by soil erosion? Also state its causes.

Qe @l F7 87 IEX0 Afd eS|

)

(3)

&)

(@)

(4)

(4)

What do you mean by a food chain? Explain with example.

Yvs — ¥ / PART-B

fd®weq — 1 / Option - |
.19 R T 8?7 S9d BRI foRay |

What is saliva? State its functions.
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9.19

.20

9.19

.20

9T Ud 399 # 3fdR forfRa |

Differentiate between respiration and breathing.

fdkea — 1 / Option -1l

g Ud RRT ¥ 3faR foIlRay |
Write differences between Arteries and Veins.

dIST & SIHROT BT YHIId B dlel BRBI BT IO BT |

Describe briefly factors affecting seed germination.

fd®ea — m / Option - 1l

ST [IRpIe T 57 SEE] R & g 9R 939 SUN 9aigy |

Define population explosion. Write any four important methods of population control.

ol H Ot S aTelt sradl T w1 9ol ST |

Describe with examples the induced tropic movements of the plants.
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